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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is Authentic
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1). List the distributive, commutative, and associative rules.
2).Prove A*(A+B)=A

1). Explain the function of basic element of close loop system
2). Draw the symbol of PNP and NPN transistor

List the different types of ADC and explain “Counting ADC”
Classify Proximity sensor and explain in short working of sub-type
Of “Photo-electric proximity sensor”.

OR
Define following term
1. Sensitivity 2. Resolution 3. Response time 4. Span
5. Accuracy  6.Threshold  7.Range

Classify cylinder and draw a hydraulic circuit to operate double acting
cylinder with 4/2(solenoid operated) direction control valve.
Write the advantage and disadvantage of belt and chain drives.

OR

Draw the symbol of hydraulic pressure control valve and explain its
working.
List the different types of gear train and explain any two.

Explain the construction and working of solenoid with neat sketch.

1). Draw the figure of internal connection of Series, shunt, compound
and self-excited
2). why rotor rotate in D.C. Motor? Explain.

OR
Write a short note on “Servo Motor”.
Explain the working of “3-phase A.C. Motor”.

What is the difference between Serial data transfer and parallel data
transfer? Explain.
Explain mechatronics system design steps.

OR
Draw the ladder of following logic for P.L.C.

1. NAND 2. XOR 3.NOR
Draw the general block diagram of “Microcontroller” and explain it.
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